S HOMOIOOIIIOIIOIIIIIIIIIIICICIICIBICIGIOIIIOEOIOK

(% 3 #H1)

MAatt mrvxhizd?

HigRAmTEOTImN3 85— 3

ST K OK ORI R K ORI O SO RO OISR ORI IOIOIOOORHOK

3% B &% 6 & 4 A 1 H

OO IO IOIOIGIOIOIOIOIOOIIICIIIIIOIIONK



sttt =7z Akey

B fi X AR £ “F 7T # 3 A 31 BB
g o a8 #H o
B ! & 4 £ £ & i
M M
[/ & & &l [ 23,179,367) | [k B A (K] [ 5,100,116]
e R OWE 17,587,917 * B OB MW 3,111,386
G # & 5,584,850 il % & 495,000
A o B M 6,600 izl n & 191,230
[R & % P [ 192,048] B ANB % 444,600
(A EEE&EE ( 172,868) KM WHEEBSE 857,900
— ¥ A W 172,868
(B Z oM oEE) ( 19,180) 7 oW e &t 5,100,116
U Ay TS 19,180 o S S
(& * & &I [ 18,271,299}
(& ~ &) ( 12,500,000)
= EN & 12,500,000
(Fl % ® £ &) ( 5,771,299)
RWMEHMELE 2,000,000
BEF RS 3,771,289
MEE NS G 18,271,299
% E oo F 23,371,415 AERCHEEORER 23,371,415




Hllait =7xally

I8 % o . H & 64 48 1H
H R = EHM T4 3831 H
B E! & i

FITJ
[# 5% L+ &)
Z it B o A 18,606,776
MO H ¥R A 7,708,530
O fih IR A 8,286,980 35,603,286
(% £ K il
I A S, W ] 19,887,996
& 7 19,887,996) 19,887,996
b B R &K ( 15,715,290)
[fR7E# R O — AR ) 12,189,705
(=S S S ( 3,525,585)
[% % 4 @ %)
= WO® K 0,476
B i , 349,451 358,927
£ A | I £ ( 3,884,512)
(% & # %]
B & ¥ E L M8 348,000 349,000
IR IR S ( 3.535,512)
EAR, R ROEER 931,100
WoOH M R % ( 2,604,412)




